LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL				
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : LA-COO-57845-67d2d23e9a5b1 VERIFY.FTGS.US Date : March 13, 2025				
Seller (Exporter) FLAVOY LLC 14705 Overlook Drive East	Transport Type Air	Port of Loading CHICAGO	Port of Loading CHICAGO		
Bonney Lake WA USA	Destination Country China	Destination Po SHANGHAI	Destination Port SHANGHAI		
Consignee	Export Date		Exporting Carrier CHINA CARGO AIRLINES		
YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD ROOM 507,BLDG.1,YINCHEN BUSINESS CENTER YINZHOU,NINGBO,ZHEJIANG	Import Permit Number		Bill of Lading / AWB 112-1804 2474		
USCI: 91330212MA7JHE4976 ZIP: 315010 China	Owner or Agent	XCHANGE	Forwarding Agent XCHANGE LOGISTICS CORPORATION		
Buyer (Importer)	Remarks				
Description (May include notes on Quantity, Item Number, Marks and Numbers, I	Kind of Packages.)	Weight	Country of Origin		
CONQUEST - 10L LEMON 10L ADVERSARIAL 10L		152.08 KG Net: 141.70 KG 130.35 KG	United States United States		
ADVERSARIAL 10L	Net: 121.46 KG 43.45 KG Net: 40.49 KG	United States			
ROOT OF ALL EVIL 10L	43.45 KG Net: 40.24 KG	United States			
BANANAS Accredited Chamber	200.17 KG Net: 182.19 KG	United States			
IMPEACHED	222.41 KG Net: 202.43 KG	United States			
LEVITICUS 24:19-20		378.10 KG Net: 344.13 KG	United States		
CERTIFICATI Accredited Cha	The above-mentioned goods origin origin applicable in the country(lie commerce ("LAACC") is accurate, - The information in this certificat Commerce ("LAACC") is accurate, - The Applicant undertakes to adwide Certificate (or to whom the Certifi of any inaccuracy, omission or ch - The Applicant will maintain, and truth, accuracy and completeness - In consideration for the LAACC's	jinate in the country(ies) specifie s) to those goods. and in any documents provided true and complete. se LAACC and any other person(cate is provided to with the know ange in such information, or in th bresent upon request, such docu of this certificate and accompan issuance of this Certificate, the A ubility in connection with the issu d/or claims made against LAACC	nentation as is necessary to verify the nying documents. pplicant agrees to release, discharge and ance of this certificate and to indemnify in connection herewith.		

LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL				
CHAMBER OF COMMERCE	TO VALIDATE	, GO TO Certificate Number SS.US Date	LA-COO-578	45-67d2d23e9a5b1	
Seller (Exporter) FLAVOY LLC 14705 Overlook Drive East	Transport Type Air		Port of Loadin CHICAGO	Port of Loading CHICAGO	
Bonney Lake WA USA	Destination Country China		Destination Po SHANGHAI	Destination Port SHANGHAI	
Consignee	Export Date			Exporting Carrier CHINA CARGO AIRLINES	
YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD ROOM 507,BLDG.1,YINCHEN BUSINESS CENTER YINZHOU,NINGBO,ZHEJIANG USCI: 91330212MA7JHE4976 ZIP: 315010	Import Permit Number			Bill of Lading / AWB 112-1804 2474	
China	Owner or Agent		XCHANGE	Forwarding Agent XCHANGE LOGISTICS CORPORATION	
Buyer (Importer)	Remarks			同235年回	
		ference: INVOICE NO. 17			
Description (May include notes on Quantity, Item Number, Marks and Numbers, I	Kind of Package	s.)	Weight	Country of Origin	
RAZZBERRIES			222.41 KG	United States	
CUAMON			Net: 202.43 KG		
BELLS OF WAR BATTLE OF PUEBLA UNFRIENDED MEAN MUGGED CERTIFICATE OF ORIGIN Accredited Chamber US2100201			200.17 KG Net: 182.19 KG	United States	
			22.24 KG Net: 20.24 KG	United States	
			22.24 KG Net: 20.24 KG	United States	
			22.24 KG Net: 20.24 KG	United States	
SUCKER PUNCHED CASES			13.30 KG Net: 11.35 KG	United States	
BANANAS CASES			53.20 KG Net: 45.96 KG	United States	
CERTIFICATI Accredited Cha	E OF ORIGIN	 The above-mentioned goods origi origin applicable in the country(ies -The information in this certificate Commerce ("LAACC") is accurate, t -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and p truth, accuracy and completeness -In consideration for the LAACC's is 	nate in the country(ies) specific of those goods. and in any documents provided rue and complete. We LAACC and any other personn ate is provided to with the know nge in such information, or in the resent upon request, such docu of this certificate and accompa ssuance of this Certificate, the bility in connection with the iss /or claims made against LAACC	Imentation as is necessary to verify the nnying documents. Applicant agrees to release, discharge and uance of this certificate and to indemnify C in connection herewith.	

LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL					
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : LA-COO-57845-67d2d23e9a5b1 VERIFY.FTGS.US Date : March 13, 2025					
Seller (Exporter) FLAVOY LLC 14705 Overlook Drive East	Transport Type Air		Port of Loadin CHICAGO	Port of Loading CHICAGO		
Bonney Lake WA USA	Destination Country China		Destination Po SHANGHAI	Destination Port SHANGHAI		
Consignee	Export Date			Exporting Carrier CHINA CARGO AIRLINES		
YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD ROOM 507,BLDG.1,YINCHEN BUSINESS CENTER YINZHOU,NINGBO,ZHEJIANG USCI: 91330212MA7JHE4976 ZIP: 315010 China	Import Permit Number			Bill of Lading / AWB 112-1804 2474		
	Owner or Agent		XCHANGE	Forwarding Agent XCHANGE LOGISTICS CORPORATION		
Buyer (Importer)	Remarks					
Description (May include notes on Quantity, Item Number, Marks and Numbers, I	Kind of Packages	.)	Weight	Country of Origin		
IMPEACHED CASES			53.20 KG Net: 45.96 KG	United States		
LEVITICUS 24:19-20 CASES BATTLE OF PUEBLA CASES UNFRIENDED CASES CERTIFICATE OF ORIGIN MEAN MUGGED CASES Accredited Chamber US2100201 LESSER OF TWO EVILS CASES RAZZBERRIES CASES			53.20 KG Net: 45.96 KG	United States		
			13.30 KG Net: 11.49 KG	United States		
			26.60 KG Net: 22.98 KG	United States		
			26.60 KG Net: 22.98 KG	United States		
			39.90 KG Net: 34.47 KG	United States		
			39.90 KG Net: 34.47 KG	United States		
CERTIFICATI Accredited Cha		- The above-mentioned goods origi origin applicable in the country(ies, -The information in this certificate Commerce ("LAACC") is accurate, t -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and pi truth, accuracy and completeness -In consideration for the LAACC's is	nate in the country(ies) specifi of those goods. and in any documents provided rue and complete. e LAACC and any other person ate is provided to with the know nge in such information, or in t esent upon request, such doct of this certificate and accompa suance of this Certificate, the pility in connection with the iss for claims made against LAAC	umentation as is necessary to verify the anying documents. Applicant agrees to release, discharge and uance of this certificate and to indemnify C in connection herewith.		

LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL				
CHAMBER OF COMMERCE	TO VALIDATE VERIFY.FT	GOTO Certificate Number	E LA-COO-57 March 13, 2025	845-67d2d23e9a5b1	
Seller (Exporter) FLAVOY LLC 14705 Overlook Drive East	Transport Type Air		Port of Loadi CHICAGO	Port of Loading CHICAGO	
Bonney Lake WA USA	Destination (China	Destination Country China		Destination Port SHANGHAI	
Consignee YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD	Export Date	Export Date		Exporting Carrier CHINA CARGO AIRLINES	
ROOM 507,BLDG.1,YINCHEN BUSINESS CENTER YINZHOU,NINGBO,ZHEJIANG USCI: 91330212MA7JHE4976 ZIP: 315010	Import Permit Number			Bill of Lading / AWB 112-1804 2474	
China	Owner or Agent		XCHANGE	Forwarding Agent XCHANGE LOGISTICS CORPORATION	
Buyer (Importer)	Remarks			同225年回	
Description (May include notes on Quantity, Item Number, Marks and Numbers,	Kind of Package	es.)	Weight	Country of Origin	
BELLS OF WAR CASES			26.60 KG Net: 22.98 KG	United States	
end of products-					
CERTIFICAT Accredited Cha	E OF ORIGIN amber US2100201	 The above-mentioned goods origi origin applicable in the country(les -The information in this certificate Commerce ("LAACC") is accurate, The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and p truth, accuracy and completeness In consideration for the LAACC's in 	inate in the country(ies) speci) to those goods. and in any documents provid- true and complete. se LAACC and any other perso ate is provided to with the kn inge in such information, or in resent upon request, such do of this certificate and accom ssuance of this Certificate, th bility in connection with the is	cumentation as is necessary to verify the panying documents. e Applicant agrees to release, discharge and suance of this certificate and to indemnify CC in connection herewith.	

	COMM	ERCIAL INVOICE		
SELLE #60530	ER:FLAVOY LLC 14705 Overlook Dr E Bonney Lake 19368	WA 98391 Unified Bussiness ID		
CONSIGNEE: YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD AD: ROOM 507,BLDG.1,YINCHEN BUSINESS CENTER,YINZHOU,NINGBO,ZHEJIANG,CHINA USCI: 91330212MA7JHE4976 ZIP: 315010 Cell no.: 18312913918/Wang E-mail: wqq@yaphun.com			DATE:2025.03.11 INVOICE NO.17 SHIP TO:PVG	
NUM.	DESCRIPTION OF GOODS	UNIT PRICE/\$	ОТУ	TOTAL PRICE/S
1	Conquest -10L	156.44664	-	2190.2529
2	Lemon 10L	156.44664		1877.3596
	Adversarial 10L	156.44664		625.7865
	Root of All Evil 10L	156.44664	4	625.7865
	Bananas	300.564	9	2705.07
	Impeached	300.564	10	3005.6
	Leviticus 24:19-20	300.564	17	5109.58
	Razzberries	300.564	10	3005.6
	Bells of War	300.564	9	2705.07
	Battle of Puebla	300.564	1	300.56
11	Unfriended	300.564	1	300.56
12	Mean Mugged	300.564	1	300.56
13	Sucker Punched cases	9.72	24	233.2
	Bananas cases	9.72	96	933.1
15	Impeached cases	9.72	96	933.1
16	Leviticus 24:19-20 cases	9.72	96	933.1
17	Battle of Puebla cases	9.72	24	233.2
18	Unfriended cases	9.72		466.5
	Mean Mugged cases	9.72		466.5
20	Lesser of Two Evils cases	9.72	72	699.8
	Razzberries cases	9.72		699.8
22	Bells of War cases	9.72	48	466.5
/				



	R:FLAVOY LLC 14705 Overlook Dr E Bonney Lake W ss ID #605309368 CONTACT PERSON: GAO CELL				
CONSIGNEE: YAPHUN SUPPLY CHAINS (NINGBO) CO., LTD AD: ROOM 507,BLDG.1,YINCHEN BUSINESS CENTER,YINZHOU,NINGBO,ZHEJIANG,CHINA USCI: 91330212MA7JHE4976 ZIP: 315010 Cell no.: 18312913918/Wang E-mail: wqq@yaphun.com		DATE:2025.03.11 INVOICE NO.17 SHIP TO:PVG			
NUM.	DESCRIPTION OF GOODS	QTY	QTY Liters	Net Weight(kg)	Gross Weight(kg)
1	Conquest -10L	14	140	141.70	152.08
-	Lemon 10L	12	120	121.46	130.35
	Adversarial 10L	4	40	40.49	43.45
4	Root of All Evil 10L	4	40	0.24	43.45
5	Bananas	9	180	182.19	200.17
	Impeached	10	200	202.43	222.41
	Leviticus 24:19-20	17	340	344.13	378.10
	Razzberries	10	200	202.43	222.41
	Bells of War	9	180	182.19	200.17
	Battle of Puebla	1	20	20.24	22.24
	Unfriended	1	20	20.24	22.24
	Mean Mugged	1	20	20.24	22.24
	Sucker Punched cases	24	11.35	11.49	13.30
	Bananas cases	96	45.41	45.96	53.20
15	Impeached cases	96	45.41	45.96	53.20
	Leviticus 24:19-20 cases	96	45.41	45.96	53.20
	Battle of Puebla cases	24	11.35	11.49	13.30
18	Unfriended cases	48	22.70	22.98	26.60
19	Mean Mugged cases	48	22.70	22.98	26.60
	Lesser of Two Evils cases	72	34.06	34.47	39.90
	Razzberries cases	72	34.06	34.47	39.90
	Bells of War gases	48	22.70	22.98	26.60
	TOTAL		1795.15	1776.71	2005.12

